DOI: 10.15393/j3.art.2025.16510

UDC 517.98

B. MOOSAVI, M. SHAH HOSSEINI

NEW NORM INEQUALITIES FOR COMMUTATORS OF HILBERT SPACE OPERATORS

Abstract. New norm inequalities for commutators of Hilbert space operators are given. Among other inequalities, it is shown that if $A, B \in \mathbb{B}(\mathbb{H})$ and there exists a real number z_0 , such that $||A - z_0I|| = D_A$, then

$$\|AB \pm BA^*\| \leq 2D_A \|B\|,$$

where $D_A = \inf_{\lambda \in \mathbb{C}} ||A - \lambda I||$. In particular, under some conditions, we prove that

$$\|AB\| \leqslant D_A \|B\|,$$

which is an improvement of submultiplicative norm inequality. Also, we prove several numerical radius inequalities for products of two Hilbert space operators.

Key words: bounded linear operator, Hilbert space, norm inequality, numerical radius

2020 Mathematical Subject Classification: *Primary 47A12;* secondary 47A30, 47A63

1. Introduction and preliminaries. Let $\mathbb{B}(\mathbb{H})$ denote the C^* -algebra of all bounded linear operators on a complex Hilbert space H with inner product $\langle \cdot, \cdot \rangle$. A self-adjoint operator A is said to be positive if $\langle Ax, x \rangle \ge 0$ holds for all $x \in \mathbb{H}$. The numerical radius of $A \in \mathbb{B}(\mathbb{H})$ is defined by

$$\omega(A) = \sup\{|\langle Ax, x \rangle| \colon ||x|| = 1\}.$$

It is well known that $\omega(\cdot)$ is a norm on $\mathbb{B}(\mathbb{H})$, which is equivalent to the usual operator norm $\|\cdot\|$. In fact, for all $A \in \mathbb{B}(\mathbb{H})$,

$$\frac{\|A\|}{2} \leqslant \omega(A) \leqslant \|A\|. \tag{1}$$

(CC) BY-NC

[©] Petrozavodsk State University, 2025

The first inequality becomes an equality if $A^2 = 0$. The second inequality becomes an equality if A is normal. Several numerical radius inequalities improving the inequalities in (1) have been recently given in [2], [4], [5], [7], [8], [11], [12], [13], [14], [15] and [16]. If A and B are operators in $\mathbb{B}(\mathbb{H})$, we write the direct sum $A \oplus B$ for the 2 × 2 operator matrix $\begin{bmatrix} A & 0 \\ 0 & B \end{bmatrix}$, regarded as an operator on $H \oplus H$. Thus

$$\omega(A \oplus B) = \max(\omega(A), \omega(B))$$

Also,

$$||A \oplus B|| = \left\| \begin{bmatrix} 0 & A \\ B & 0 \end{bmatrix} \right\| = \max(||A||, ||B||).$$
 (2)

The question about the best constant k, such that the inequality

$$w(AB) \leqslant k \|A\|\omega(B) \tag{3}$$

holds for all operators $A, B \in \mathbb{B}(\mathbb{H})$, is still open.

Concerning the inequality (3), it is shown in [1] that if $A, B \in \mathbb{B}(\mathbb{H})$, then

$$\omega(AB) \leqslant \omega(A)(D_B + ||B||). \tag{4}$$

Also, if A > 0, then

$$\omega(AB) \leqslant \|A\| \left(\frac{\omega(B) + \|B\|}{2}\right) \tag{5}$$

and

$$\omega(AB) \leqslant \frac{3}{2} \|A\| \ \omega(B).$$

The commutator of two bounded linear operators A and B is the operator AB - BA. In [6], Dragomir proved that if $A, B \in \mathbb{B}(\mathbb{H})$ and A - B is positive operator, then

$$||AB - BA|| \leq \min(||A||, ||B||) ||A - B||$$
(6)

and, if A (or B) is positive, then

$$||AB - BA|| \le ||A|| ||A - B||$$
 (or $||B|| ||A - B||$).

Kittaneh in [9] proved that if $A, B, C \in \mathbb{B}(\mathbb{H})$, such that A or B is positive, then

$$\|AB - BA\| \leqslant \|A\| \|B\| \tag{7}$$

and, also, if A and C are positive operators, then

$$||AB - BC|| \leq \max(||A||, ||C||) ||B||.$$
(8)

In Section 2, we establish norm inequalities for commutators of Hilbert space operators. Applications of these inequalities can be considered as improving some of the inequalities expressed in [6]; for example, we obtain refinements of the inequalities (6), (7), and (8). Finally, we obtain refinements of the inequality (5).

2. Main results. Let $D_A = \inf_{\lambda \in \mathbb{C}} ||A - \lambda I||$ (the distance of A from the scalar operators), and let R_A denote the radius of the smallest disk in the complex plane containing $\sigma(A)$ (the spectrum of A). It is not hard to check that there exist a $\lambda_0 \in \mathbb{C}$, such that $D_A = ||A - \lambda_0 I||$. It is known (see, e.g., [17]) that $D_A = R_A$ for any normal operator A.

In order to derive our main results, we need the following lemma, which can be found in [10]:

Lemma 1. Let $A, B \in \mathbb{B}(\mathbb{H})$. If $z_0 \in \mathbb{C}$, such that $||A - z_0I|| = D_A$, then

$$||Re(\alpha_0 AB)|| \leq \frac{||B + B^*||\omega(A)|}{2} + \frac{D_A D_{B+B^*}}{2} + D_A \omega(B)$$

where $\alpha_0 = \frac{\overline{z}_0}{|z_0|}$.

Theorem 1. Let $A, B \in \mathbb{B}(\mathbb{H})$. If $z_0 \in R$, such that $||A - z_0I|| = D_A$, then

$$\|AB \pm BA^*\| \leq 2D_A \|B\|.$$

Proof. By Theorem 1,

$$\|\operatorname{Re}(\alpha AB)\| \leq \frac{\|B+B^*\|\omega(A)}{2} + \frac{D_A D_{B+B^*}}{2} + D_A \omega(B).$$
 (9)

From the assumption, $||A - z_0I|| = D_A$, it follows that $|\alpha| = 1$ and, by (9),

$$\|\operatorname{Re}(AB)\| \leq \frac{\|B + B^*\|\omega(A)}{2} + \frac{D_A D_{B+B^*}}{2} + D_A \omega(B).$$
 (10)

Choose
$$A_1 = \begin{bmatrix} A & 0 \\ 0 & A \end{bmatrix}$$
, $B_1 = \begin{bmatrix} 0 & B \\ -B^* & 0 \end{bmatrix}$ in (10) to give
 $\|\operatorname{Re}(A_1B_1)\| \leq D_{A_1}\omega(B_1).$

Therefore,

$$\left\|\operatorname{Re}\left(\begin{bmatrix}0&AB\\-AB^*&0\end{bmatrix}\right)\right\| \leqslant D_A \|B\|.$$

Consequently,

$$\left\| \begin{bmatrix} 0 & AB - BA^* \\ B^*A^* - AB^* & 0 \end{bmatrix} \right\| \leqslant 2D_A \|B\|$$

and, finally,

$$\|AB - BA^*\| \leq 2D_A \|B\|$$

by (2). Replacing A by iA gives the related inequality

$$\|AB + BA^*\| \leq 2D_A \|B\|.$$

This completes the proof. \Box

Corollary 1. Let $A, B \in \mathbb{B}(\mathbb{H})$. If A is a self-adjoint operator, then

$$\|AB \pm BA\| \leqslant \left(\max_{\lambda \in \sigma(A)} \lambda - \min_{\lambda \in \sigma(A)} \lambda\right) \|B\|.$$

Proof. Let $z_0 = (\max_{\lambda \in \sigma(A)} \lambda + \min_{\lambda \in \sigma(A)} \lambda)/2$. Since $||A - z_0I|| = D_A$, from the Theorem 1 we have

$$\|AB \pm BA\| \leqslant 2D_A \ \|B\|. \tag{11}$$

On the other hand,

$$D_A = R_A = \frac{\max_{\lambda \in \sigma(A)} \lambda - \min_{\lambda \in \sigma(A)} \lambda}{2},$$

and, so,

$$\|AB \pm BA\| \leqslant \left(\max_{\lambda \in \sigma(A)} \lambda - \min_{\lambda \in \sigma(A)} \lambda\right) \|B\|, \qquad (by (11))$$

which is exactly the desired result. \Box

Remark 1. Let $A, B \in \mathbb{B}(\mathbb{H})$ and A > 0. Since $\min_{\lambda \in \sigma(A)} \lambda > 0$, from Corollary 1 we get

$$\begin{split} \|AB - BA\| &\leq \left(\max_{\lambda \in \sigma(A)} \lambda - \min_{\lambda \in \sigma(A)} \lambda\right) \|B\| = \\ &= \left(\|A\| - \min_{\lambda \in \sigma(A)} \lambda\right) \|B\| < \\ &< \|A\| \|B\|, \end{split}$$

which is a considerable improvement of inequality (7).

The following Corollary is a considerable improvement of the inequality (8):

Corollary 2. Let $A, B, C \in \mathbb{B}(\mathbb{H})$. If A and C are positive operators, then

$$\|AB - BC\| \leq \left(\max(\|A\|, \|C\|) - \min_{\lambda \in \{\sigma(A) \cup \sigma(C)\}} \lambda \right) \|B\|.$$

Proof. Let $A_1 = \begin{bmatrix} A & 0 \\ 0 & C \end{bmatrix}$, $B_1 = \begin{bmatrix} 0 & B \\ 0 & 0 \end{bmatrix}$. Then A_1 is positive and $A_1B_1 - B_1A_1 = \begin{bmatrix} 0 & AB - BC \\ 0 & 0 \end{bmatrix}$. By Remark 1 and (2), $\|AB - BC\| = \|A_1B_1 - B_1A_1\| \leq$ $\leq (\|A_1\| - \min_{\lambda \in \sigma(A_1)} \lambda) \|B_1\| =$ $= \left(\max(\|A\|, \|C\|) - \min_{\lambda \in \{\sigma(A) \cup \sigma(C)\}} \lambda \right) \|B\|.$

Consequently,

$$\|AB - BC\| \leq \left(\max(\|A\|, \|C\|) - \min_{\lambda \in \{\sigma(A) \cup \sigma(C)\}} \lambda \right) \|B\|.$$

This completes the proof. \Box

Theorem 2. Let $A, B \in \mathbb{B}(\mathbb{H})$. If A - B are self-adjoint operators, then

$$\|AB - BA\| \leqslant \left(\max_{\lambda \in \sigma(A-B)} \lambda - \min_{\lambda \in \sigma(A-B)} \lambda\right) \min(\|B\|, \|A\|).$$

Proof. By Corollary 1,

$$\|AB - BA\| = \|(A - B)B - B(A - B)\| \leq \leq \left(\max_{\lambda \in \sigma(A - B)} \lambda - \min_{\lambda \in \sigma(A - B)} \lambda\right) \|B\|.$$

Consequently,

$$\|AB - BA\| \leqslant \left(\max_{\lambda \in \sigma(A-B)} \lambda - \min_{\lambda \in \sigma(A-B)} \lambda\right) \|B\|$$
(12)

and, similarly,

$$\|AB - BA\| = \|(A - B)A - A(A - B)\| \leq \leq \left(\max_{\lambda \in \sigma(A - B)} \lambda - \min_{\lambda \in \sigma(A - B)} \lambda\right) \|A\|.$$

Therefore,

$$\|AB - BA\| \leqslant \left(\max_{\lambda \in \sigma(A-B)} \lambda - \min_{\lambda \in \sigma(A-B)} \lambda\right) \|A\|.$$
(13)

Utilising (12) and (13), we deduce the desired result. \Box

Remark 2. Let $A, B \in \mathbb{B}(\mathbb{H})$ and A - B be a positive operator. Since $\min_{\lambda \in \sigma(A-B)} \lambda > 0$, from Theorem 2 we get

$$\begin{split} \|AB - BA\| &\leq \left(\max_{\lambda \in \sigma(A-B)} \lambda - \min_{\lambda \in \sigma(A-B)} \lambda\right) \min(\|B\|, \|A\|) = \\ &= \left(\|A - B\| - \min_{\lambda \in \sigma(A-B)} \lambda\right) \min(\|B\|, \|A\|) < \\ &< \|A - B\| \min(\|B\|, \|A\|), \end{split}$$

which is a considerable improvement of inequality (6).

The following result for the self-commutator holds:

Corollary 3. Let $A \in \mathbb{B}(\mathbb{H})$. If φ and ψ are the Cartesian decomposition of an operator A, i.e., $A = \varphi + i\psi$, then

$$\|AA^* - A^*A\| \leq 2\left(\|\varphi - \psi\| - \min_{\lambda \in \sigma(\varphi - \psi)}\lambda\right)\min(\|\psi\|, \|\varphi\|).$$

Proof. Clearly,

$$\frac{1}{2i}(AA^* - A^*A) = \varphi\psi - \psi\varphi$$

and, applying Theorem 2,

$$\frac{1}{2} \|AA^* - A^*A\| = \|\varphi\psi - \psi\varphi\| \leq \\
\leq \left(\max_{\lambda \in \sigma(\varphi - \psi)} \lambda - \min_{\lambda \in \sigma(\varphi - \psi)} \lambda \right) \min(\|\psi\|, \|\varphi\|) \leq \\
\leq \left(\|\varphi - \psi\| - \min_{\lambda \in \sigma(\varphi - \psi)} \lambda \right) \min(\|\psi\|, \|\varphi\|).$$

Consequently,

$$\|AA^* - A^*A\| \leq 2\left(\|\varphi - \psi\| - \min_{\lambda \in \sigma(\varphi - \psi)}\lambda\right)\min(\|\psi\|, \|\varphi\|),$$

which is exactly the desired result. \Box

At the end of this section, we introduce some numerical radius inequalities for products of two operators. In order to derive our results, we need the following lemma, which can be found in [3]:

Lemma 2. Let a, b and $e \in \mathbb{H}$. Then

$$|\langle a,e\rangle \langle e,b\rangle| \leqslant \frac{\|e\|^2}{2}(\|a\|\|b\|+|\langle a,b\rangle|).$$

The following result holds:

Theorem 3. Let $A, B, C \in \mathbb{B}(\mathbb{H})$ and $0 \leq \alpha \leq 1$. If A is a positive operator, then

$$\omega(BAC) \leq \|A\| \Big(\frac{\|(1-\alpha)|C|^2 + \alpha|B|^2 \|^{\frac{1}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha} + \omega(BC)}{2} \Big).$$

Proof. Putting a = Cx, e = ACx, and $b = B^*x$, where $x \in \mathbb{H}$ and ||x|| = 1, in Lemma 2, gives:

$$|\langle Cx, ACx \rangle \langle ACx, B^*x \rangle| \leq \frac{\|ACx\|^2}{2} (\|Cx\| \|B^*x\| + |\langle Cx, B^*x \rangle|).$$

Hence,

$$\begin{split} |\langle ACx, B^*x \rangle| &\leqslant \frac{\|ACx\|^2}{2\langle Cx, ACx \rangle} (\|Cx\| \|B^*x\| + |\langle Cx, B^*x \rangle|) \leqslant \\ &\leqslant \frac{\|A^{\frac{1}{2}}A^{\frac{1}{2}}Cx\|^2}{2\|A^{\frac{1}{2}}Cx\|^2} (\|Cx\| \|B^*x\| + |\langle Cx, B^*x \rangle|) \leqslant \\ &\leqslant \frac{\|A^{\frac{1}{2}}\|^2}{2} (\|Cx\| \|B^*x\| + |\langle Cx, B^*x \rangle|) = \\ &= \frac{\|A\|}{2} (\|Cx\| \|B^*x\| + |\langle BCx, x \rangle|) \leqslant \\ &\leqslant \frac{\|A\|}{2} (\|Cx\| \|B^*x\| + \sup_{\|x\|=1} |\langle BCx, x \rangle|) = \\ &= \frac{\|A\|}{2} (\|Cx\| \|B^*x\| + \sup_{\|x\|=1} |\langle BCx, x \rangle|) = \\ &= \frac{\|A\|}{2} (\|Cx\| \|B^*x\| + \omega(BC)) = \\ &= \frac{\|A\|}{2} (\langle Cx, Cx \rangle^{\frac{1}{2}} \langle B^*x, B^*x \rangle^{\frac{1}{2}} + \omega(BC)) = \\ &= \frac{\|A\|}{2} (\langle |C|^2, x \rangle^{\frac{1}{2}} \langle |B|^2x, x \rangle^{\frac{1}{2}} + \omega(BC)). \end{split}$$

Therefore,

$$|\langle ACx, B^*x \rangle| \leqslant \frac{\|A\|}{2} (\langle |C|^2, x \rangle^{\frac{1}{2}} \langle |B|^2 x, x \rangle^{\frac{1}{2}} + \omega(BC)).$$

$$(14)$$

Now, let $\alpha \in R$ and $0 \leq \alpha \leq 1$. By (14),

$$\begin{split} |\langle BACx, x \rangle| &\leqslant \frac{\|A\|}{2} (\langle |C|^2, x \rangle^{\frac{1}{2}} \langle |B|^2 x, x \rangle^{\frac{1}{2}} + \omega(BC)) = \\ &= \frac{\|A\|}{2} (\langle |C|^2 x, x \rangle^{\frac{1-\alpha}{2}} \langle |B|^2 x, x \rangle^{\frac{\alpha}{2}} \langle |C|^2 x, x \rangle^{\frac{\alpha}{2}} \langle |B|^2 x, x \rangle^{\frac{1-\alpha}{2}} + \omega(BC)) \leqslant \\ &\leqslant \frac{\|A\|}{2} (\langle |C|^2 x, x \rangle^{\frac{1-\alpha}{2}} \langle |B|^2 x, x \rangle^{\frac{\alpha}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha} + \omega(BC)) = \\ &= \frac{\|A\|}{2} ((\langle |C|^2 x, x \rangle^{1-\alpha} \langle |B|^2 x, x \rangle^{\alpha})^{\frac{1}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha} + \omega(BC)) \leqslant \\ &\leqslant \frac{\|A\|}{2} (((1-\alpha) \langle |C|^2 x, x \rangle + \alpha \langle |B|^2 x, x \rangle)^{\frac{1}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha} + \omega(BC)) \leqslant \\ &\leqslant \frac{\|A\|}{2} (\|(1-\alpha)|C|^2 + \alpha |B|^2\|^{\frac{1}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha} + \omega(BC)). \end{split}$$

Therefore,

$$|\langle BACx, x \rangle| \leq ||A|| (\frac{||(1-\alpha)|C|^2 + \alpha|B|^2 ||^{\frac{1}{2}} ||C||^{\alpha} ||B||^{1-\alpha} + \omega(BC)}{2})$$

Taking the supremum over $x \in \mathbb{H}, ||x|| = 1$ gives

$$\omega(BAC) \leq \|A\|(\frac{\|(1-\alpha)|C|^2 + \alpha|B|^2\|^{\frac{1}{2}}\|C\|^{\alpha}\|B\|^{1-\alpha} + \omega(BC)}{2}),$$

which is exactly the desired result. \Box

Corollary 4. If $B, C \in \mathbb{B}(\mathbb{H})$ and $0 \leq \alpha \leq 1$, then

$$\omega(BC) \leq \|(1-\alpha)|C|^2 + \alpha|B|^2\|^{\frac{1}{2}} \|C\|^{\alpha} \|B\|^{1-\alpha}.$$

Proof. If we replace A by I in Theorem 3, we deduce the desired result. \Box

Remark 3. Let $A, B \in \mathbb{B}(\mathbb{H})$ and A be positive operators. By Theorem 3, for $\alpha = 0$ and replacing C by I gives:

$$\omega(BA) \leqslant \|A\| \frac{(\|B\| + \omega(B))}{2}.$$

This shows that Theorem 3 is a refinement of the inequality (5).

References

- Abu-Omar A., Kittaneh F. Numerical radius inequalities for products of Hilbert space operators. J. Operator Theory., 2014, vol. 72, no. 2, pp. 521-527. DOI: https://doi.org/10.7900/jot.2013jun12.1990
- Bajmaeh A. B., Omidvar M. E. Improved Inequalities for the Extension of Euclidean Numerical Radius. Filomat., 2019, vol. 33, no. 14, pp. 4519-4524. DOI: https://doi.org/10.2298/FIL1914519B
- Buzano M. L. Generalizzazione della diseguaglianza di Cauchy-Schwarz'. Rend. Sem. Mat. Univ. Politech. Torino., 1974, vol. 31, pp. 405-409.
- [4] Dragomir S. S. Rivers inequalities for the numerical radius of linear operators in Hilbert space. Bull. Austral. Math. Soc., 2006, vol. 73, pp. 255-262.
 DOI: https://doi.org/10.1007/978-3-319-01448-7
- [5] Dragomir S. S. Some inequalities for the norm and the numerical radius of linear operators in Hilbert Spaces. Tamkang J. Math., 2008, vol. 39, no. 1, pp. 1-7. DOI: https://doi.org/10.5556/j.tkjm.39.2008.40

- [6] Dragomir S. S. Some inequalities for commutators of bounded linear operators in a Hilbert space. Filomat., 2011, vol. 25, no. 2, pp. 151-162.
 DOI: https://doi.org/10.2298/fil1102151d
- [7] Dragomir S. S. Inequalities for the norm and the numerical radius of linear operators in Hilbert spaces. Demonstratio Mathematica., 2007, vol. 40, no. 2, pp. 411-417. DOI: https://doi.org/10.1515/dema-2007-0213
- [8] Dragomir S. S. Some inequalities for the Euclidean operator radius of two operators in Hilbert spaces. Linear Algebra Appl., 2006, vol. 419, pp. 256-264. DOI: https://doi.org/10.1016/j.laa.2006.04.017
- [9] Kittaneh F. Norm inequalities for commutators of positive operators and applications. Mathematische Zeitschrift., 2008, vol. 258, no. 4, pp. 845-849. DOI: https://doi.org/10.1007/s00209-007-0201-9
- [10] Moosavi B., Shah Hosseini M. Norm and numerical radius inequalities for Hilbert space operators. The journal of analysis., 2023, vol. 31, no. 2, pp. 1393-1400. DOI: https://doi.org/10.1007/s41478-022-00521-y
- [11] Moosavi B., Shah Hosseini M. Some inequalities for the numerical radius for operators in Hilbert C*-modules space. J. Inequal. Spec. Funct., 2019, vol. 10, pp. 77-84.
- [12] Omidvar M. E., Moradi H. R. New estimates for the numerical radius of Hilbert space operators. Linear Multilinear Algebra., 2023, vol. 69, no. 5, pp. 946-956. DOI: https://doi.org/10.1080/03081087.2020.1810200
- [13] Omidvar M. E., Moradi H. R. Better bounds on the numerical radii of Hilbert space operators. Linear Algebra Appl., 2020, vol. 604, pp. 265-277. DOI: https://doi.org/10.1016/j.laa.2020.06.021
- [14] Shah Hosseini M., Moosavi B. Inequalities for the norm and numerical radius for Hilbert C*-module operators. Problemy Analiza-Issues of Analysis., 2020, vol. 9, no. 2, pp. 87-96.
 DOI: https://doi.org/10.15393/j3.art.2020.7330
- [15] Shah Hosseini M., Moosavi B. Some Numerical Radius Inequalities for Products of Hilbert Space Operators. Filomat., 2019, vol. 33, no. 7, pp. 2089-2093. DOI: https://doi.org/10.2298/FIL1907089H
- [16] Shah Hosseini M., Moosavi B., Moradi H. R. An alternative estimate for the numerical radius of Hilbert space operators. Math. Slovaca., vol. 70, no. 1, pp. 233-237. DOI: https://doi.org/10.1515/ms-2017-0346
- [17] Stampfi J. G. The norm of a derivation. Pacific J. Math., 1970, vol. 33, pp. 737-747. DOI: https://doi.org/10.2140/pjm.1970.33.737

Received August 12, 2024. In revised form, December 19, 2024. Accepted January 08, 2025. Published online February 09, 2025.

B. Moosavi Department of Mathematics, Safadasht Branch, Islamic Azad University, Tehran, Iran E-mail: baharak moosavie@yahoo.com

M. Shah Hosseini Department of Mathematics, Shahr-e-Qods Branch, Islamic Azad University, Tehran, Iran E-mail: mohsen_shahhosseini@yahoo.com